
English joy
CH-9

( Goldilocks and the Three Bears)

Question / Answers

Q-1.  Where did Goldilocks go for a walk one day?
ANS -She went for a walk into a forest.

Q-2. What did Goldilocks find during her walk?
ANS- She found a little house in the forest.

Q-3.  Why were there  three of everything in the house?
ANS-Because there were three bears in the house.

Q-4.  Why could Goldilocks not sleep on the bed she tried first?
Ans- She lay down on the first bed but it was too hard and the
middle size bed was too soft.

Q-5.  In whose bed did she sleep on and why?
Ans -  she slept on a small bed because it was so comfortable that
she fell fast asleep.

Q-6 -What happened when Goldilocks woke up?
Ans - She woke up and saw the Three Bears.


